## ITB No. 24-101670 ITB Name: Fence and Gate Repair (Three (3) Year Multiyear Contract)

## **BID TABULATION**

**Bid Opening:** October 16, 2024 **Price Opening:** October 24, 2024

Agent: Yesenia Diaz

|             |   |                                 |      | Executive R | ealty Solutions, Inc. | Wainwrigh  | nt Construction Inc. |
|-------------|---|---------------------------------|------|-------------|-----------------------|------------|----------------------|
| Item<br>No. |   | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price | Total Amount         |
| 1           | Wooden fence, 6-foot high Pressure treated- cedar tone  | 2,000                           | LF   | \$40.00     | \$80,000.00           | \$39.00    | \$78,000.00          |
| 2           | Wooden single gate, 6-foot high Pressure treated— cedar tone  | 60                              | Each | \$500.00    | \$30,000.00           | \$500.00   | \$30,000.00          |
| 3           | Wooden double gate, 6-foot high Pressure treated – cedar tone   | 60                              | Each | \$800.00    | \$48,000.00           | \$960.00   | \$57,600.00          |
| 4           | Wooden fence, 8-foot high Pressure treated – cedar tone   | 750                             | LF   | \$45.00     | \$33,750.00           | \$50.00    | \$37,500.00          |
| 5           | Wooden, single gate, 8-foot high Pressure treated – cedar tone  | 25                              | Each | \$550.00    | \$13,750.00           | \$600.00   | \$15,000.00          |
| 6           | Wooden, double gate, 8-foot high<br>Pressure treated – cedar tone   | 25                              | Each | \$850.00    | \$21,250.00           | \$1,440.00 | \$36,000.00          |
| 7           | Fence, installed, six feet (6') high security, complete with top rails and three strands of barbed wire                               | 3,000                           | LF   | \$37.00     | \$111,000.00          | \$168.00   | \$504,000.00         |
| 8           | Double gate, installed, six feet (6') high, fourteen feet (14') wide, non-motorized, including posts and three strands of barbed wire | 40                              | Each | \$4,500.00  | \$180,000.00          | \$2,760.00 | \$110,400.00         |

Page 1 of 14 ITB 24-101670

|             |   |                                 |      | Executive R | Realty Solutions, Inc. | Wainwrigh  | nt Construction Inc. |
|-------------|---|---------------------------------|------|-------------|------------------------|------------|----------------------|
| Item<br>No. |   | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount           | Unit Price | Total Amount         |
| 9           | Double Gate, installed, six feet (6') high, eighteen feet (18') wide, non-motorized, including posts and three strands of barbed wire | 30                              | Each | \$5,000.00  | \$150,000.00           | \$3,240.00 | \$97,200.00          |
| 10          | Fence, installed, six feet (6') high, plain chain link  | 2,000                           | LF   | \$40.00     | \$80,000.00            | \$18.00    | \$36,000.00          |
| 11          | Fence, installed, eight feet (8') high, plain chain link  | 1,400                           | LF   | \$47.00     | \$65,800.00            | \$21.60    | \$30,240.00          |
| 12          | Single gate, six feet (6') high, plain chain link   | 40                              | Each | \$500.00    | \$20,000.00            | \$1,440.00 | \$57,600.00          |
| 13          | Double gate, six feet (6') high, plain chain link   | 150                             | Each | \$950.00    | \$142,500.00           | \$3,000.00 | \$450,000.00         |
| 14          | Single Gate, eight feet (8') high, plain chain link   | 40                              | Each | \$550.00    | \$22,000.00            | \$1,800.00 | \$72,000.00          |
| 15          | Double gate, eight feet (8') high, plain chain link   | 45                              | Each | \$1,000.00  | \$45,000.00            | \$3,600.00 | \$162,000.00         |
| 16          | Double Gate, installed, six feet (6') high, twenty feet (22') wide, non-motorized, including posts and three strands of barbed wire   | 45                              | Each | \$8,000.00  | \$360,000.00           | \$6,000.00 | \$270,000.00         |

Page 2 of 14 ITB 24-101670

|             |   |                                 |      | Executive R | ealty Solutions, Inc. | Wainwright Construction Inc. |              |
|-------------|---|---------------------------------|------|-------------|-----------------------|------------------------------|--------------|
| Item<br>No. |   | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price                   | Total Amount |
| 17          | Fence repair, six feet (6') high, all fence types (wood and chain link)   | 2,200                           | F    | \$30.00     | \$66,000.00           | \$12.00                      | \$26,400.00  |
| 18          | Fence, installed, eight feet (8') high security, complete with posts, top rails and three strands of barbed wire                          | 1,700                           | LF   | \$55.00     | \$93,500.00           | \$18.00                      | \$30,600.00  |
| 19          | Double Gate, installed, eight feet (8') high, fourteen feet (14') wide, non-motorized, including posts and three strands of barbed wire.  | 30                              | LF   | \$5,500.00  | \$165,000.00          | \$3,360.00                   | \$100,800.00 |
| 20          | Double Gate, installed, eight feet (8') high, eighteen feet (18") wide, non-motorized, including posts and three strands of barbed wire   | 40                              | Each | \$6,500.00  | \$260,000.00          | \$3,840.00                   | \$153,600.00 |
| 21          | Double Gate, installed, eight feet (8') high, twenty feet (20') wide, non-motorized, including posts and three strands of barbed wire     | 30                              | Each | \$7,300.00  | \$219,000.00          | \$4,080.00                   | \$122,400.00 |
| 22          | Double Gate, installed, eight feet (8') high, twenty two feet (22') wide, non-motorized, including posts and three strands of barbed wire | 30                              | LF   | \$1,000.00  | \$30,000.00           | \$4,320.00                   | \$129,600.00 |
| 23          | Double Gate, installed, eight feet (8') high, thirty feet (30') wide, non-motorized, including posts and three strands of barbed wire     | 30                              | Each | \$8,500.00  | \$255,000.00          | \$4,560.00                   | \$136,800.00 |
| 24          | Single Gate, installed, eight feet (8') high, four feet (4') wide, non-motorized, including posts and three strands of barbed wire        | 60                              | Each | \$3,000.00  | \$180,000.00          | \$4,800.00                   | \$288,000.00 |

Page 3 of 14 ITB 24-101670

|             |   |                                 |      | Executive R | ealty Solutions, Inc. | Wainwright Construction Inc. |              |
|-------------|---|---------------------------------|------|-------------|-----------------------|------------------------------|--------------|
| Item<br>No. |   | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price                   | Total Amount |
| 25          | Fence repairs eight feet (8') high, all fence types (wood and chain link)   | 5,000                           | LF   | \$40.00     | \$200,000.00          | \$14.40                      | \$72,000.00  |
| 26          | Fence, installed, ten feet (10') high security, complete with posts, top rails and three strands of barbed wire                         | 750                             | LF   | \$50.00     | \$37,500.00           | \$21.60                      | \$16,200.00  |
| 27          | Double Gate, installed, ten feet (10') high, fourteen feet (14') wide, non-motorized, including posts and three strands of barbed wire  | 60                              | Each | \$5,000.00  | \$300,000.00          | \$6,600.00                   | \$396,000.00 |
| 28          | Double Gate, installed, ten feet (10') high, eighteen feet (18') wide, non-motorized, including posts and three strands of barbed wire  | 60                              | Each | \$5,700.00  | \$342,000.00          | \$6,720.00                   | \$403,200.00 |
| 29          | Double Gate, installed, ten feet (10') high, twenty feet (20') wide, non-motorized, including posts and three strands of barbed wire    | 30                              | Each | \$6,500.00  | \$195,000.00          | \$7,200.00                   | \$216,000.00 |
| 30          | Double Gate, installed, ten feet (10') high twenty two feet (22') wide, non-motorized, including posts and three strands of barbed wire | 30                              | Each | \$7,000.00  | \$210,000.00          | \$7,440.00                   | \$223,200.00 |
| 31          | Double Gate, installed, ten feet (10') high, thirty (30') wide, non-motorized, including posts and three strands of barbed wire         | 30                              | Each | \$7,800.00  | \$234,000.00          | \$8,400.00                   | \$252,000.00 |

Page 4 of 14 ITB 24-101670

|             |  |                                 |      | Executive R | ealty Solutions, Inc. | Wainwrigh  | at Construction Inc. |
|-------------|--|---------------------------------|------|-------------|-----------------------|------------|----------------------|
| Item<br>No. |  | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price | Total Amount         |
| 32          | Single Gate, installed, ten feet (10') high, four feet (4') wide, non-motorized, including posts and three strands of barbed wire          | 60                              | Each | \$3,150.00  | \$189,000.00          | \$4,560.00 | \$273,600.00         |
| 33          | Fence repair, ten feet (10') high, all fence types (wood and chain link)   | 2,700                           | LF   | \$35.00     | \$94,500.00           | \$18.00    | \$48,600.00          |
| 34          | Fence, installed, twelve feet (12') high security, complete with posts, top rails and three strands of barbed wire                         | 1,700                           | LF   | \$55.00     | \$93,500.00           | \$24.00    | \$40,800.00          |
| 35          | Double Gate, installed, twelve feet (12') high, fourteen feet (14') wide, non-motorized, including posts with three strands of barbed wire | 60                              | Each | \$5,400.00  | \$324,000.00          | \$6,000.00 | \$360,000.00         |
| 36          | Double Gate, installed, twelve feet (12') high, eighteen feet (18') wide, non-motorized, including posts with three strands of barbed wire | 60                              | Each | \$6,200.00  | \$372,000.00          | \$6,720.00 | \$403,200.00         |
| 37          | Double Gate, installed, twelve feet (12') high, twenty feet (20') wide, non-motorized, including posts and three strands of barbed wire    | 60                              | Each | \$6,600.00  | \$396,000.00          | \$6,960.00 | \$417,600.00         |

Page 5 of 14 ITB 24-101670

|             |   |                                 |      | Executive R | ealty Solutions, Inc. | Wainwrigh  | at Construction Inc. |
|-------------|---|---------------------------------|------|-------------|-----------------------|------------|----------------------|
| Item<br>No. |   | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price | Total Amount         |
| 38          | Double Gate, installed, twelve feet (12') high, twenty-two feet (22') wide, non-motorized, including posts with three strands of barbed wire                                      | 30                              | Each | \$7,000.00  | \$210,000.00          | \$7,200.00 | \$216,000.00         |
| 39          | Double Gate, installed, twelve feet (12') high, thirty (30') wide, non-motorized, including posts with three strands of barbed wire   | 30                              | Each | \$7,700.00  | \$231,000.00          | \$7,440.00 | \$223,200.00         |
| 40          | Single Gate, installed, twelve feet (12') high, four feet (4') wide, non-motorized, including posts with three strands of barbed wire   | 60                              | Each | \$3,300.00  | \$198,000.00          | \$5,280.00 | \$316,800.00         |
| 41          | Fence repairs, twelve feet (12') high, all fence types (wood and chain link)  | 1,500                           | LF   | \$45.00     | \$67,500.00           | \$18.00    | \$27,000.00          |
| 42          | Fence, plastic covered, installed, six feet (6') high security, complete with plastic coated posts, plastic coated top rails, and three strands of barbed wire                    | 1,500                           | LF   | \$55.00     | \$82,500.00           | \$28.80    | \$43,200.00          |
| 43          | Double Gate, plastic covered, installed, six feet (6') high, fourteen feet (14') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire | 15                              | Each | \$4,800.00  | \$72,000.00           | \$4,560.00 | \$68,400.00          |

Page 6 of 14 ITB 24-101670

|             |  |                                 |      | Executive R | ealty Solutions, Inc. | Wainwrigh  | at Construction Inc. |
|-------------|--|---------------------------------|------|-------------|-----------------------|------------|----------------------|
| Item<br>No. |  | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price | Total Amount         |
| 44          | Double Gate, plastic covered, installed, six feet (6') high, eighteen feet (18') wide, non-motorized, including plastic coated posts and rails, with plastic coated posts and rails, with three strands of barbed wire | 30                              | Each | \$5,500.00  | \$165,000.00          | \$4,800.00 | \$144,000.00         |
| 45          | Double Gate, plastic covered, installed, six feet (6') high, twenty feet (20') wide, non-motorized, including plastic coated posts and rails, with plastic coated posts and rails, with three strands of barbed wire   | 45                              | Each | \$6,000.00  | \$270,000.00          | \$5,040.00 | \$226,800.00         |
| 46          | Double Gate, plastic covered, installed, six feet (6') high, twenty-two (22') wide, non-Motorized, including plastic coated posts and rails, with plastic coated posts and rails, with three strands of barbed wire    | 30                              | Each | \$6,600.00  | \$198,000.00          | \$5,280.00 | \$158,400.00         |
| 47          | Double Gate, plastic covered, installed, six feet (6') high, twenty-two (22') wide, non-Motorized, including plastic coated posts and rails, with plastic coated posts and rails, with three strands of barbed wire    | 30                              | Each | \$7,200.00  | \$216,000.00          | \$5,760.00 | \$172,800.00         |
| 48          | Double Gate, plastic covered, installed, six feet (6') high, thirty feet (30') wide, non-motorized, including plastic coated posts and rails, with plastic coated posts and rails, with three strands of barbed wire   | 30                              | Each | \$3,400.00  | \$102,000.00          | \$3,600.00 | \$108,000.00         |
| 49          | Single Gate, plastic coated, installed, six feet (6') high, four feet (4') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire  | 750                             | LF   | \$45.00     | \$33,750.00           | \$12.00    | \$9,000.00           |

Page 7 of 14 ITB 24-101670

|             |  |                                 |      | Executive Realty Solutions, Inc. |              | Wainwright Construction Inc. |              |
|-------------|--|---------------------------------|------|----------------------------------|--------------|------------------------------|--------------|
| Item<br>No. |  | Estimated<br>Number of<br>Units | Unit | Unit Price                       | Total Amount | Unit Price                   | Total Amount |
| 50          | Fence repairs six feet (6') high, plastic coated Fence, plastic covered, installed, eight feet (8') high security, complete with plastic coated posts, plastic coated top rails, and three strands of barbed wire          | 3,000                           | LF   | \$58.00                          | \$174,000.00 | \$18.00                      | \$54,000.00  |
| 51          | Double Gate, plastic covered, installed, eight feet (8') high, fourteen feet (14') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire  | 30                              | Each | \$5,000.00                       | \$150,000.00 | \$4,080.00                   | \$122,400.00 |
| 52          | Double Gate, plastic covered, installed, eight feet (8') high, eighteen feet (18') wide, non-motorized, including plastic coated posts and rails, with plastic covered metal mesh, and with three strands of barbed wire   | 15                              | Each | \$5,500.00                       | \$82,500.00  | \$4,320.00                   | \$64,800.00  |
| 53          | Double Gate, plastic covered, installed, eight feet (8') high, twenty feet (20') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire  | 15                              | Each | \$6,000.00                       | \$90,000.00  | \$4,560.00                   | \$68,400.00  |
| 54          | Double Gate, plastic covered, installed, eight feet (8') high, twenty-two feet (22') wide, non-motorized, including plastic coated posts and rails, with plastic covered metal mesh, and with three strands of barbed wire | 45                              | Each | \$6,500.00                       | \$292,500.00 | \$4,800.00                   | \$216,000.00 |
| 55          | Double Gate, plastic covered, installed, eight feet (8') high, thirty feet (30') wide, non-motorized, including plastic coated posts and rails and plastic covered wire mesh, with three strands of barbed wire            | 45                              | Each | \$7,400.00                       | \$333,000.00 | \$5,280.00                   | \$237,600.00 |

Page 8 of 14 ITB 24-101670

|             |   |                                 |      | Executive R | ealty Solutions, Inc. | Wainwright Construction Inc. |              |
|-------------|---|---------------------------------|------|-------------|-----------------------|------------------------------|--------------|
| Item<br>No. |   | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price                   | Total Amount |
| 56          | Single Gate, plastic coated, installed, eight feet (8') high, four feet (4') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire   | 20                              | Each | \$3,500.00  | \$70,000.00           | \$3,840.00                   | \$76,800.00  |
| 57          | Fence repairs eight feet (8') high, plastic coated  | 500                             | LF   | \$47.00     | \$23,500.00           | \$18.00                      | \$9,000.00   |
| 58          | Fence, plastic covered, installed, ten feet (10') high security, complete with plastic coated posts, plastic coated top rails, and three strands of barbed wire   | 1,700                           | LF   | \$60.00     | \$102,000.00          | \$28.80                      | \$48,960.00  |
| 59          | Double Gate, plastic covered, installed, ten feet (10') high, fourteen feet (14') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire                                      | 45                              | Each | \$5,250.00  | \$236,250.00          | \$5,040.00                   | \$226,800.00 |
| 60          | Double Gate, plastic covered, installed, ten feet (10') high, eighteen feet (18') wide, non-motorized, including plastic coated posts and rails, with plastic covered metal mesh, and with three strands of barbed wire | 45                              | Each | \$5,750.00  | \$258,750.00          | \$5,280.00                   | \$237,600.00 |
| 61          | Double Gate, plastic covered, installed, ten feet (10') high, twenty feet (20') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire  | 30                              | Each | \$6,300.00  | \$189,000.00          | \$5,520.00                   | \$165,600.00 |

Page 9 of 14 ITB 24-101670

|             |  |                                 |      | Executive R | ealty Solutions, Inc. | Wainwrigh  | nt Construction Inc. |
|-------------|--|---------------------------------|------|-------------|-----------------------|------------|----------------------|
| Item<br>No. |  | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount          | Unit Price | Total Amount         |
| 62          | Double Gate, plastic covered, installed, ten feet (10') high, twenty-two feet (22') wide, non-motorized, including plastic coated posts and rails, with plastic covered metal mesh, and with three strands of barbed wire  | 45                              | Each | \$6,800.00  | \$306,000.00          | \$5,760.00 | \$259,200.00         |
| 63          | Double Gate, plastic covered, installed, ten feet (10') high, thirty feet (30') wide, non-motorized, including plastic coated posts and rails and plastic covered wire mesh, with three strands of barbed wire             | 30                              | Each | \$7,500.00  | \$225,000.00          | \$6,600.00 | \$198,000.00         |
| 64          | Single Gate, plastic coated, installed, ten feet (10') high, four feet (4') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire   | 45                              | Each | \$3,750.00  | \$168,750.00          | \$4,440.00 | \$199,800.00         |
| 65          | Fence, plastic covered, installed, twelve feet (12') high security, complete with plastic coated posts, plastic coated top rails, and three strands of barbed wire   | 1,500                           | LF   | \$62.00     | \$93,000.00           | \$24.00    | \$36,000.00          |
| 66          | Double Gate, plastic covered, installed, twelve feet (12') high, fourteen feet (14') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire                                      | 30                              | Each | \$5,500.00  | \$165,000.00          | \$4,800.00 | \$144,000.00         |
| 67          | Double Gate, plastic covered, installed, twelve feet (12') high, eighteen feet (18') wide, non-motorized, including plastic coated posts and rails with plastic covered metal mesh, and with three strands of barbed wire. | 30                              | Each | \$6,250.00  | \$187,500.00          | \$5,040.00 | \$151,200.00         |

Page 10 of 14 ITB 24-101670

|             |  |                                 |      | Executive R | Realty Solutions, Inc. | Wainwrigh  | nt Construction Inc. |
|-------------|--|---------------------------------|------|-------------|------------------------|------------|----------------------|
| Item<br>No. |  | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount           | Unit Price | Total Amount         |
| 68          | Double Gate, plastic covered, installed, twelve feet (12') high, twenty feet (20') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire  | 60                              | Each | \$6,750.00  | \$405,000.00           | \$5,280.00 | \$316,800.00         |
| 69          | Double Gate, plastic covered, installed, twelve feet (12') high, twenty-two feet (22') wide, non-motorized, including plastic coated posts and rails, with plastic covered metal mesh, and with three strands of barbed wire | 30                              | Each | \$7,150.00  | \$214,500.00           | \$5,400.00 | \$162,000.00         |
| 70          | Double Gate, plastic covered, installed, twelve feet (12') high, thirty feet (30') wide, non-motorized, including plastic coated posts and rails and plastic covered wire mesh, with three strands of barbed wire            | 45                              | Each | \$8,000.00  | \$360,000.00           | \$5,640.00 | \$253,800.00         |
| 71          | Single Gate, plastic coated, installed, twelve feet (12') high, four feet (4') wide, non-motorized, including plastic coated posts and rails, with three strands of barbed wire  | 20                              | Each | \$3,975.00  | \$79,500.00            | \$4,440.00 | \$88,800.00          |
| 72          | Fence repair twelve feet (12') high plastic coated   | 100                             | LF   | \$55.00     | \$5,500.00             | \$18.00    | \$1,800.00           |
| 73          | Remove and Replace (with new) fence rollers (for item no. 74)  | 125                             | Each | \$200.00    | \$25,000.00            | \$120.00   | \$15,000.00          |
| 74          | Basic Service for motorized gate, Link Controls Model GSL-100-23-B2, in accordance with Specifications and Section 6.06.   | 50                              | Each | \$425.00    | \$21,250.00            | \$600.00   | \$30,000.00          |

Page 11 of 14 ITB 24-101670

|             |   |                                 |      | Executive R | Realty Solutions, Inc. | Wainwrigh  | nt Construction Inc. |
|-------------|---|---------------------------------|------|-------------|------------------------|------------|----------------------|
| Item<br>No. |   | Estimated<br>Number of<br>Units | Unit | Unit Price  | Total Amount           | Unit Price | Total Amount         |
| 75          | Remove and Replace (with new) sprockets (for item no. 74).  | 75                              | Each | \$250.00    | \$18,750.00            | \$264.00   | \$19,800.00          |
| 76          | Remove and Replace (with new) drive chain (for item no. 74).  | 45                              | Each | \$350.00    | \$15,750.00            | \$360.00   | \$16,200.00          |
| 77          | Install new Loop Detector up to 50' from a gate (for item no. 74).  | 60                              | Each | \$650.00    | \$39,000.00            | \$378.00   | \$22,680.00          |
| 78          | Basic Service for Stanley/Vemco Model SJGFT motorized gate, in accordance with Specifications and Section 6.06. | 50                              | Each | \$350.00    | \$17,500.00            | \$600.00   | \$30,000.00          |
| 79          | Remove and replace (with new) fence rollers (for item no. 78).  | 55                              | Each | \$250.00    | \$13,750.00            | \$360.00   | \$19,800.00          |
| 80          | Remove and replace (with new) sprockets (for item no. 78).  | 75                              | Each | \$250.00    | \$18,750.00            | \$264.00   | \$19,800.00          |
| 81          | Remove and replace (with new) drive chain (for item no. 78).  | 60                              | Each | \$350.00    | \$21,000.00            | \$360.00   | \$21,600.00          |
| 82          | Install New Loop Detector up to 50' from a gate (for item no. 78).  | 55                              | Each | \$650.00    | \$35,750.00            | \$420.00   | \$23,100.00          |
| 83          | Gate Operator, Door King Model No. 9150-088, with chain drive and remotes.                                      | 40                              | Each | \$3,000.00  | \$120,000.00           | \$4,800.00 | \$192,000.00         |
| 84          | Gate Operator, Door King Model No. 9150-084 with chain drive and remote push button station.                    | 40                              | Each | \$3,000.00  | \$120,000.00           | \$4,560.00 | \$182,400.00         |

Page 12 of 14 ITB 24-101670

|             |  |                                 |        | Executive Realty Solutions, Inc. |                 | Wainwright Construction Inc. |                 |
|-------------|--|---------------------------------|--------|----------------------------------|-----------------|------------------------------|-----------------|
| Item<br>No. |  | Estimated<br>Number of<br>Units | Unit   | Unit Price                       | Total Amount    | Unit Price                   | Total Amount    |
| 85          | Gate Operator, Door King Model No. 9150-088 with belt drive and remote push button station.                    | 40                              | Each   | \$4,300.00                       | \$172,000.00    | \$8,400.00                   | \$336,000.00    |
| 86          | Gate Operator, industrial, Stanley Automatic Model No. 550, to include the two (2) Key Stands and Switches.    | 45                              | Each   | \$5,000.00                       | \$225,000.00    | \$7,200.00                   | \$324,000.00    |
| 87          | Gate Operator, John Green Model No. CSWC-5Z, to include the two (2) Keyless Entry Stands with AK-1 Entry Pads. | 45                              | Each   | \$6,500.00                       | \$292,500.00    |                              | \$0.00          |
| 88          | Gate Operator, Door King Model No. 9450, 460 volts, with chain drive   | 30                              | Each   | \$4,500.00                       | \$135,000.00    |                              | \$0.00          |
| 89          | Gate Operator, Linear Osco Controller, model # GSLG-A-143  | 30                              | Each   | \$3,300.00                       | \$99,000.00     |                              | \$0.00          |
| 90          | Gate Operator, Allometric Controller, Model Number SL150DC1.   | 30                              | Each   | \$3,400.00                       | \$102,000.00    |                              | \$0.00          |
| 91          | Fence removal, all types and sizes   | 8,000                           | LF     | \$25.00                          | \$200,000.00    | \$10.00                      | \$80,000.00     |
|             |  |                                 | TOTAL: |                                  | \$13,408,050.00 |                              | \$12,539,480.00 |
|             | per of Bids Received:  | 3                               |        |                                  |                 |                              |                 |
|             | Participation Benchmark/GFE  |                                 |        | LSBE - DeKalb Firm               |                 | LSBE - DeKalb Firm           |                 |
|             | dance at the Mandatory LSBE Meeting (Yes/No)   |                                 |        | Yes                              |                 | Yes                          |                 |
| Separ       | ate Sealed Price Schedule (Yes/No)   |                                 |        | Yes                              |                 | Yes                          |                 |

Page 13 of 14 ITB 24-101670

|                              |                        |      | Executive Realty Solutions, Inc. |              | Wainwright Construction Inc. |              |
|------------------------------|------------------------|------|----------------------------------|--------------|------------------------------|--------------|
| Item                         | Estimated<br>Number of |      |                                  | _            |                              |              |
| No.                          | Units                  | Unit | Unit Price                       | Total Amount | Unit Price                   | Total Amount |
| NOTES - DETAIL JUSTIFICATION |                        |      |                                  |              |                              |              |

Only responsive bidders are represented on the Bid Tabulation

Additional Bidders (Non-responsive): ASAP Landscape Management Group, LLC - Failure to complete required document.

\*\*Amounts in red differ from the original price schedule due to corrections in totals. Note that whenever discrepancies in calculations are found, the unit pricing is considered to be the correct price. Calculations of total pricing must be equal to the unit price multiplied by the estimated quantity.

| Witness Signature: |  |
|--------------------|--|
| Agent Signature:   |  |

Page 14 of 14 ITB 24-101670